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QUESTION 1

Refer to the exhibit.

module: Cisco=-I08=NE-native
== AATive
=W LNPTEE face
+=-=pw GigabicEchernez* [name]

S==gw RARS string
s==pw media-type? shumeatation
t==rW pOIE~Cyped efumerATIon
v=mpw descripeion? atring
+—=EW SWiltChport—cant

| *==rw switchpore? bBoolean

+==rw switchport {ics=featuresiswitching-platform}?
+#==gW Stackwise-vircual

| ®==gw link? winth
| #==rw dual-aczive-detectionl empty
*==rw mac-address? string
+==-rw shutdown? ampry
+—=rW ALP

| *=—pw timeout? uintldd

Interface Lookback 1 must be created with IP address 10.30.0.1/24 in a Cisco |I0S XE device using RESTCONF. The
schema that is defined by the exhibit must be used. Which body and URI should be used for this operation?
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FU?
frestconf/data/Cieco=-l08=-XF=nativetnative/intearfaces

"Loopback™: [|
"name™y 17,

“description™: "Loopback 1 - description”,
-EP-"- .:
"addresa™; |
"primacy: | “address™: 10.30.0.1%,
. "mask™: "255.233%.235.0" }
1
B. POAT
fzestoconf /data/Cisco=I08=HE=-nativeinative/interfaces

J "Loopback™: ||

"nams™3 "1%,
"description®: “Loopback 1 - deacecipzien”,
"§p®: |
“address™: |
"primary: | “"addresa®™: 10.30.0.1°,

"maak™: "24% |

¢ 1

C. [voe=
frentcand /data/Cisco-108-NE-native:native/incecface

I "Loopback™: [|
"name™: "1",
"dessriptisn™: "Loopback 1 = deasceiptien”,
H-=FH: I
"addzesa™:
"primary: | "address™: 10.30.0.1%,
“mask®™: "255.35%.25%.0"

D. =

resccon® /daca/Cisco=-108=E=-nativeinactive/ incerface

"Loopback™: [{

"nama™: 1%, )
"description”: "Loopback 1 - dascription”,
e ¥ -t S |
faddreasn™: |
"pcimazryt | “address"3; 10.30.0.17,
"mask®: "34* )

A.B.C.D.

Correct Answer: A

QUESTION 2
DRAG DROP

Drag and drop the steps from the left into the sequence on the fight to implement an OAuth2 three-legged authorization
code flow grant type in an application. Not all options are used.
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Select and Place:

Usng the user cradentials, the sppbcation requests an de 1
Imuuummwpmmm:m 260 2
and athorge consent.
Using thae Juthonzation token, protected AP calls can then be
made. "o 3
Using the code generated dunng login, protected APT calls can
then be made.
Using the code generated dunng legn, the apphcation requests
an authorizabion.
Correct Answer:
Usng the user cradentials, the sppbcation requésts an de 1
Irhwuamdm:hwpmwthtm 260 2
and athorge consent.
Using the Juthonzation token, protected AP calls can then be 3
made. we

Using the code generated duning login, protected APT calls can
then be made.

Uming the code genarated dunng logn, the apphicabion regusits
an authorization.

QUESTION 3

A cloud native project is being worked on in which all source code and dependencies are written in Python, Ruby,
and/or JavaScipt. A change in code triggers a notification to the CI/CD tool to run the CI/CD pipeline. Which step should
be omitted from the pipeline?

A. Deploy the code to one or more environments, such as staging and/or production.

B. Build one of more containers that package up code and all its dependencies.

C. Compile code.

350-901 PDF Dumps | 350-901 Practice Test | 350-901 Study Guide 4/6


https://www.geekcert.com/350-901.html
https://www.geekcert.com/350-901.html
https://www.geekcert.com/350-901.html

VCE & PDF https://lwww.geekcert.com/350-901.html
2024 Latest geekcert 350-901 PDF and VCE dumps Download

GeekCert.com

D. Run automated tests to validate the correctness.

Correct Answer: C

QUESTION 4
DRAG DROP
An engineer must access multiple bots that are running in an internal infrastructure. A different HTTPS URL is required
for each bot. The infrastructure has just one public IP address and a Linux server with Apache installed. Drag and drop

the actions from the left into the order of steps on the right to enable access to the bots inside. Not all options are used.

Select and Place:

Configure “Let’s Encrypt” on the bot servers. step 1

Enable a forward proxy in Apache. step 2

Configure Apache virtual hosts. step 3
Enable a reverse proxy in Apache.

Configure an Apache htaccess file.

Configure “Let’s Encrypt® on the Apache server.

Correct Answer:

Configure “Let’s Encrypt” on the bot servers. Configure Apache virtual hosts.
Enable a forward proxy in Apache. Configure “Let's Encrypt” on the Apache server.
Enable a reverse proxy in Apache.

Configure an Apache .htaccess file.

QUESTION 5
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A developer must recommend an appropriate tool to deploy a configuration to hundreds of servers. The configuration
management solution must meet these requirements.

The servers must initiate the connection to obtain updates The configuration must be defined in a declarative style
Which tool should be used?

A. Chef

B. Terraform
C. Puppet
D. Ansible

Correct Answer: A
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